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Suppose we bet $1 on the

pass line .

Let be the

amount won or lost.

E[E] =
($1)P( = (1)

+ ( - $1)P(z= -$7)

⑭line
= ($1)(i) + (- $7)(i)
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if we played this
On average

we
would

bet many times
$) I[-lose about 1

.
4k per

wagered.



The casino allows another

type of bet .

It's called

a "free odds" bet.

It's allowed after a point

is made.

The free odds bet is

paid out at the fire

odds making it a

"fair bet".

That is the expected
value of this bet is $0 .



outsfor "free odds" bet

=
$10 on the pass line .

Let's say
the come out roll

is a 5. Now that a



point is made we can add

a "free odds" bet

Let's say we bet another

$10 .

·sa
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⑪ Paid
X

Edd=bet

= $10 + $15 = $25



How much would we have

lost ifI came before 5 ?

$10 + $0 = $20
-w

-ifreee
the expected

value of the above free

odds bet.

suppose you
bet $0 on the

pass line and if a point
bet another

is made you

$10 as a
free odds bet.

Let I be the amount

won or lost .

Let's calculate E[E].
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+ 2 . (5)()($25) + 2 . ()(i) (- $20
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- 1$18 - free odds
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We lose about 14 . 14k per

game played with this

rategyinthelon. . .
"per $1 bet" terms so we

can compare it to the

first analysis of just betting

$1 on the pass line .

Let's see what the

amount bet is
average

when we do the $10 initial

bet and then the $10

free odds bet.
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Expected value per
dollar

bet is08

So we lose about 0
.

85k per

dollar wagered Compare
that

to losing 1 . 414k per dollar

wagered with just $1 bet

un pass line


